LANFR230

Installation Instructions

Lankota Foot Rest for John Deere Sprayers and Tractors with CommandView Cabs

**CABS NEED RELATIVELY EASY ACCESS TO THE BOTTOM OF THE FLOOR AT THE FRONT**

LANKOTA

270 West Park Avenue
Huron, SD 57350
866-526-5682

Page |1 6/18/2019 www.lankota.com | Lankota Inc. John Deere and JD are registered trademarks of Deere & Company.
Lankota is a registered trademark of Lankota Group.



Numerical Parts List

r )
Part Numbers Description Qty
LANFR230W JD Sprayer & Tractor Foot Rest 2
LAN18A 3/8” x 1” Carriage Bolt 4
LAN18000 3/8” Flat Washer 4
REDWL53 3/8” Lock Washer 4
REDNAF3 3/8” Hex Nut 4
LANFG378 2” Anti-Skid Tape (9” Long) 2

\ /

Pictorial Parts List

LANFR]D230 (2) LAN18A (4) LAN18000 (4) REDWL53 (4) REDNAF3 (4) LANFG378 (2)

- 6/18/2019 www.lankota.com | Lankota Inc. John Deere and JD are registered trademarks of Deere & Company.
Lankota is a registered trademark of Lankota Group.



Kit Installation

[ Page| 3 6/18/2019

www.lankota.com

Figure 1

Refer to Figures 1—4

1.

Pull back the floor mat from the front window
on in the cab.

Determine where the footrest should be
located.

Mark the floor through the bolt holes.

Set the foot rest aside and center punch the
marks.

Drill the center marks with a 13/32” drill bit.
Bolt the foot rest in place with 3/8” carriage
bolts, flat washers, lock washers and hex
nuts.

Figure 4

Figure 2

Lankota Inc.

John Deere and JD are registered trademarks of Deere & Company.

Lankota is a registered trademark of Lankota Group.




Kit Installation

[ Page|4 6/18/2019

www.lankota.com

Lankota Inc.

: [ Figure 5 ] Refer to 5—7
: 7.
8.

Repeat steps 1-6 on the other side of cab.

Push the floor mat back down in place. Press around the foot
rests as much as possible.

Use a utility knife to make a slit in the mat around the foot rest.

. Apply the anti-skid tape strips to the tubes.

[ Figure 7 ]

John Deere and JD are registered trademarks of Deere & Company.
Lankota is a registered trademark of Lankota Group.




